i 8i(0r, ¥, 1) N; a; b; Ci d;

1 2cos?Pr(1 — sin? Oy cos? @r) |Ao(0)]? 1 D C -S

2 sin?yr(1 — sin® By sin® @r) |A(0) 1 D C -S

3 sin? ¢y sin? Oy |AL(0)? 1 -D C S

4 *Sil’lz lstinZGTsin(pT ‘A”( )HAL(O)‘ Csin(éi *5“) SCOS((SL *5“) Sil’l(&l *(SH) DCOS((SL *(SH)
5 % SinZlIJT Sil’l2 GT Sinzq)T |A0( )”AH (O)| COS(&H — 50) D COS(&H — (50) CCOS((SH — 50) -5 COS((SH - 50)
6 % sin 24t sin 201 cos ¢t |Ao(0)[|AL(0)] Csin(é, —dy) Scos(d, —&y) sin(é; —8) Dcos(d; — )
7 2(1 — sin? 1 cos? gr) |As(0)|? 1 -D C S

8 6sin l/JT sin2 9T sin 24)]‘ ‘As(O) | ‘AH( )‘ CCOS(&H - 55) S Sil’l(dH — 55) COS((SH — 55) D Sil’l((SH — 55)

9 6 sin ipr sin 207 cos @ |As(0)[|AL(0)] sin(é, —ds) —Dsin(é; —ds) Csin(d; —ds) Ssin(d; —ds)

10 2v/3cos (1 —sin® frcos? gr) | As(0)[|Ag(0)]

Ccos(dy — s)

Ssin(dy —ds)  cos(dp — ds)

D Sin(&o — (55)



